Y
(,1.:. 3

3t n%f
golve he {-‘ouowmg expression. 3
(5.5+6NE7.6 '~‘3 “1/)p
=201 %
7.EE.1 Simplify the following e><pre53|on

@%3)'} P+ 3Q< +29) [ 4y

- Floy]
7.EE.4a (Create ah equatlon egnd sofve
John takes g taXi ride that
COSts $21. The taxi charges
$3 upoh entry and $1.50 per
mile. How many miles di
John travel in the taXxi

S

e

LO ?JHQS

JaCk Cah mow ah 1800 $q ft laf _

410 2 hours. How long Will it takke| i+

him to Mow a 2400 sq ft lawn? 2,
1ECO0IE _ LH00 f+

2\ b

- 7.RP.2b  Identify the constant of prOpomonaUty

X
Y

R ¥ o

.x»ffv
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SC\ yAY “.6

B o o .

[ech s

TeChSource seus 8 gb flashdrives for
$6.50. TechSavvy sells 20 gb flashdrives
for $12. Which store has the cheaper
Flashdrive per 8b? se.50" (G080 47 Q@
Eqb | oo ,gogg

.Ja . Solve the following expression

7.EE.4

7Y+ 2 Y-

Solve the following equation.

“ o

Sam brings ¢ Cups of flour (F), ¢ Cups Of sugar
(8), and 2 eggs (e) to make g large batCh Of sugar
Cookies. Gadie brings 5 Cups of flour (f), 2 Cups
Of sugar (S), and 3 eggs (e). What are their
combihed ingredients written in the form Of an
express:on?

Simplify the eXpYeSSIOD




ldentify the cans'cant Of proportiohality

/

7.RP.2b  Find the Cost per Qunce.
? .25

Tni g

Find the’missing} side length
L9

17.NG.1C
bExe
“_ﬂ_%

7.EE.4b

5




3 } 3;\;} ﬁm 3
17.EE.2 If the perimeter i t0 6¢ , SOIVe £Or X.
Z% 45X 1 B%4 5w = (1 P
_Vgx 4 C’ZF J
7RP.2C  Write an equatlon t0 match the table -t
by using the constant of proportionality.

X 3 & S5
Yy 21 28 35

{Jse a proportional relationship to solve

7 Jasmine gets paid 15% €ommissionror every sale
[:“ﬂ { lgb she makes. If she sold § orth of products
154 | DOV this week, what will her comnission be?

_%A%D 4 _—

D
Golve using proportions 3,5 iﬁ
o"‘\j\(\oﬁ Janie’s Boutique buys their jeans for $75
¢ wholesale price. They then sell them for
a retail price of $105. What is percent
mark-up does Jahie’s use to Create their
retail prices?

Factor the following expression
422X — 20¥
b¥-5y A (3 - \D

0 2%




|7.NS.2b

A +‘7lﬂq
17.EE.4b

. "
Day Nine

Find the area of the given shape
4% JZ)‘{,? //( Y'\f lo(? "y

(OOX [} V2, Lr

q
4
Fill in the blanks L l g‘[

To add 6 pius negative 7 on the humber (ine,
start at the zero ahd move _lp spaCes to the | 4o
lg?»i Then move }_spaces to the \¢f+. This will B

Ce you on the ahswer which is - . A

golve and graph the following.

\!7EE4b

[Iijdil tO rake?

Create and golve ah inequality for the Following situation.

\a Miguel earns $20 a week for helping his
_ dad. He also earhs $¢ for every Yard he
rakes. If he wahts to earh atieast $36
this week, how many Yards will he have

Label the graph proportiohal or hot proportiohal.

o




33/4 8, - 51/2 l g 185 B
e A 8—“‘ '{g’w ke
! (Qp /?@ "l»—-?,.|»’~l
7.RP.2d  singthe graph, determine the unit rate. (W%
L2

7|

=

= §1.20 L?E@ T

252 fe2 %

=

w28 =41d

7.EE.4a  Write an equation and solve

U, Arectangie has a perimeter of 48 F o
\ND Its tength is 1¢. What is its width? F*

4
7.EE.1 Sirplify the £oliowing expression.

(3a +1¢) + 49 -9Y -10
ooy e} A€ 28]t a5y (10)

7.RP.1 Compute unit rate.
[Leo Can ruh 1.5 miles in % of
an hour. How fast can [Leo




Solve

protons (+). What is the/atom’s

An atom has 6 eleCtronj;\( and 2
overall charge? .

7 'RP 3 Find the percent the item was discounted.

o be $1000 Qo/j

5
-/JJ | b7, N

7.RP.2C erte an equation to match the table.
4
%* )

1f d:recﬂy proportional, give the unit rate. If
hot direcCtly prOport:onal, explain why?

Q.49 " TP I o
y [Is 6o W\X U \f‘\(\

/ )(‘J\\;U o 3

(..‘!.

A party store Charges $18 fOf 6 foi
balloons and $2 for each additional
A_______,:_J ¢ __balloon. If you plan o spending $22, how_
~ {many balloons can you buy /total?

a-%?,/@ aﬂ

8 + (-45/,)




Does the following Frat:tlo or terminate
in its deCimal form? o

O35 = ﬂj

Evaluate the expressionh when b = -24.

12D +18 )2(2)+1€

—288 4+ 1%

17.RP.3 Golve using a proportional relationship.

LevVi ate a 315 Calorie meal, ahd 95 B
i 99 215 calories are from fat. About

T | poZ what percent of Levi’s meal is

w

The peak of Mt. BigFoot has ah elevation of
2345 £t above sea level. Hunter’s Trench is
|ocated 238 £t below sea level. What is the
difFerence ih elevation between Mt Bigfroot

and Hunter's Trench? <345~ 22 8=

;22 454 QQB’

Factor the following expression

zlaaz + 12p -21a " -
L L\&\o -Jom ‘%(O\ 4 la() /5‘1“1

\,
WY
\&l = 1

Sotve
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7.RP.3 Golve using a proportional relationship.

JaCob wahts to buy a present for his sister. He

$ : \
_ 5.0 has picked out ah item that Costs $15.50. What

To ‘2‘7_ | 0oy, Will his total amount be after 8% § Fles 1ax?

EE.3 @__,‘i@ 74
7.EE. golve L

.
32a+7)-15=¢42 la+
(oayrzms&qz

7.RP.2 Find the mnssmg side length.

Evaluate the expression wheh m = 4.

3(M) - 5(M + 6)
B~ G (- qa6) = 140 20

7.EE.4b  Write an inequality to represent the graph. (VQ
b0

[




\.C;\%g O @\0@5 Donnie can complete 1.5 laps in 5
- |-=="1 1minutes. What is his distance per

S | o, [minUTE?

//

7.EE.4b  Write an inequality to represent the situation.

‘1 b e 7). Macie buys a paCkage of ¢ batteries for
L@ = C [ under $2.52. What is the price range for

@ each battery?
L. (5

7.RP.2b  1dentify the constant oﬁonionality.

Y=21X

S ,{M 739|

7.RP2a 1 dlreCtly pr0pomona|, give th unjt ()= Ll"b
8 .43  rate If not directly proportioha, exp|am why? &

\? 7 2
12.9 L{3 L’% X 3 2
E y 8.6 12,9 17.2

7.RP-3 solve using a proportional relationship

@1, ﬂ JacKk's market is having a 15% OFf sale. A
“tc;) o Canoe how costs $230. What was the
| o0 '/, origihal price Of the Canoe?

Solve I

3.9 - 45.6 = \H 'S




